| total events O=anyInput 8=anyAccept |

Entries

................................

0 1 2 3 4

Input: 1=btow, 2=etaw

|rauaofinputevents

y: rate (Hz)

45

40

35

30

25f

Mean

~Irms

59390
1.789

2.618

...................

5 6 7 8 9
Accept: 4=oneJet, 5=diJet, 6=rnd

L2 time used per input event

(2] -
2000
()

> C
18000
>

16000}
14000F
12000F
10000F
8000
6000
4000F
2000

0

0 50

Mean

RMS

Entries 445732

68.18

11.61

100 150

200

250 300 350

400

x: time (CPU kTics)

Entries

20
15H

10}

Mean

RMS

46835

600.2
332.1

.............................................

.............................................

..............................................

1000

1500 2000
X: time in this run (seconds)

2500

4ccpet rate blue:monoJet, red:diJet, black:randon1

Entries

y: rate (Hz)

Mean
RMS

3439
607.8
333.8

............................................

AT RO T ST VT ST

1000

1500 2000

2500

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=1+

x: BTOW softiD.

soft=801+ . Eil ' : ;

500
x: BTOW softiD.

o
Xx: BTOW softiD.

o
x: BTOW softiD.

0

soft=3201+,

o
Xx: BTOW softiD.

soﬁ:4001¥;

o
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1

crate=2"

x: i=chan+128*crate

crate=3"

x: i=chan+128*crate

crate=4"

0
x: i=chan+128*crate

crate=5b"

x: i=chan+128*crate

=chan+128+crate




BTOW tower, Et>2.0 GeV (input) Entries 17649 | |erow

R~sector

BTOW-East BTOW-West
20m A
70
00 60
0 50

y; phi bi

30

O 5 10 15 20 25 30 35 40 o 2 4 6 8 10 1
X eta bln, [-l,+l] x: 12 - Endcap etaBin ,[+1,+2]



Et Jetl-Jet2 (input) | [Entries 46835]  [djJet] eta-phi (inDUt)|BTOW—West Endca

> 12 _ 30—
o N o
Q S . *
o L @ | 400
o~ 10 U0 [ B
2 - & 350
8l > 20 [ 300
250
6 15 [
B 200
4 1O N oy N 150
100
2 .....
50
0 0 0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
diJet phil-phi2 (input [Entries 46835 | diJet2 eta-phi (input
| P D (inp )| | = .A _( b )|BTOW-West Endcap
. 30 350 < 30 puma -
o bS]
g S 1000
[%2] (%]
U 25 300 U g
o =
£ o
= 250 % 800
> 20 20

200 600
15 15

150
400

10

100

50 200

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



Jetl Et (input) Entries 46835 Jet2 Et (input) Entries 46835
T —|Mean 5.328 T —|Mean 2.268
: ' |[RMS 1.975 : +{RMS 1.264
=50 =50
x: Et (GeV) x: Et (GeV)
#BTOW towers>ped+8 (input) | Entries 46835 total Et (input) Entries 46835
C T T T Mean 32.58 = Mean 18.44
R "R o T HE A A T|RMS 14.05 C {IRMS 5.327
1200 : 10°
1000 |-
800 |- 10
600
10
400
A e R R T e e S R I mn B o
: 1
P - AR BRI B e .. PR EVETEI SR EU B |
0 20 40 60 80 100 120 140 160 180 200 0 20 30 40 60
x: # of towers/event x: Et (GeV)
# ETOW towers>ped+8 (input) | Entries 46835
1800 T T Mean 19.31
: : RMS 11.31
1600 : :
1400 :
1200 : i
1000
800 : :
600
400 : :
200 : :
Py = B BN B B i i i i
0 10 20 30 40 50 60 70 80 90 100

x: # of towers/event




one-Jet Et (accepted) |

one-Jet eta-phi (accepted
05 P_ f e>n)v-MVest Endcap
)

Entries 3439

y: iPhi ~sector

0 10 20 30 40 50 0 2 4 6 8 10 12 14
X: jet Et (GeV) x: iEta [-1,+2]

Entries 3439 Entries 3439

240 SRR R SRS RS ) S 500

05 HNNNAS FENUAN RSN WA —
200 ----e-eeee- S N S USSR O
5 NN R SN N O B
160F ' ' ' ' '
140F
120F
100F
80F
60
40F
20F ; 5 ; : ; : : : : : : :
) TN AP AP AN AP S ) P N I ERTE R AT B I

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhi ~sector x: iEta [-1,+2]

400

300

200

-




Et of Jetl vs. Jet2 [Entries 3092 | iJet1 eta-phi [Entries 3002 ]
|Et of Jetl vs. Jet2 (accepted)| diJet tap [ (acceptt)elcg‘|N_West Endcap

12 20 -
3T S 50
S 3
T 10f g
= 10 P 25

8_ > 20

o

6 15

20

4 10

2 10

0- 0

0 2 4 6 8 10 12 0 2 4 6 8 10 12 14

x: Jetl/GeV x: iEta [-1,+2]

diJet2 eta-phi (accepted Entries 3092
| 30 ,A pD.JJ/\/—West Endcap
2 : I18
(O]
%]
o - S - 116
ey 3
o
= 14

12

15 e : 10

-
0 P TR 0
0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]




|diJet Et (accepted)|

10

Entries 3092

— High Et jet

.....
.....

---Low Etjet [~

..................

|Mean 8.193

RMS  2.579

o

el
1

O e 1 S SO PO
[ B e ppgrc b e g
' :
' : : :

_J' il el ":l"'ll'l"l """""" 'Lr"k':l"'ll' """"

10

40

180

160

140

120F

100

80

60

40

20

50 60
x: Et (GeV)

|diJet eta (accepted) |

500

400

300

Entries 3092
Mean 8.748

RMS  3.844

— High Et jet
--- Low Et jet '

200

100

cr o e S

..............................................

0 2 4 6 8 10 12

14

x: i Eta[-1,+2]

Entries 3092

...................................................

1“[— High Et jet
--- Low Et jet

14.95
8.829

—|Mean
:{RMS

5 10 15 20

25 30

x: iPhi ~sector

|diJet delZeta (accepted)|

400=--------+- e e e

Entries 3092
30.83
5.49

Mean
RMS

o S W | — ——
o S —— i —
T .
S0 T R —
SO
st A

SCHNNS SIS WhLS S —

20 30 40 50

60

x: delta zeta (rad*10)




Mean x  8.748
Meany 30.83

|diJet delZeta vs. etal (accepted) | Entries 3092 |diJet eta2 vs. etal (a Entries 3092

Mean x 8.748

- - eany 8.042

y: delta zeta (rad*10)
x: iEta2 [-1,+2]

0IllillliIllilllilllilllilllil

0
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
|diJet delZeta vs. avrPhi (accepted) | Enties 30921 [total Et diJet (accepted)] Entries 3092
=~ e Ty P —— S s M -

g [ : : ; T Y 3083 C ‘|Mean 2268

S 250 :

R S ——— = . A -

= L N S —{30 -

o 5 i = -

I R SO - o 10 O S

8 : ’ . : § —25 B

o : : L

© : : -

P A0 RO0oetotess  RASMONON ORI » izo e T e S LI L L L LR SERRRLCLLLEE
[ —15 -
1552 100_ ..................................................................................
I A R A N A 10 ¥
I S A S S ) s (TR | [SSINS MU S

: : : : : 5 B
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O_l 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i i i 1 1 1 | -
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EE)| Entries 534
> 12 160
Q L
N
2 ] 140
B —120
100
—60
40
20
0 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 O
0 2 4 6 8 10 12
x: Jetl/GeV
Entries 534

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5

10 15 20 25

x: iPhil ~sector

30

|diJetl eta-phi (accepted EE)| Entries 534
30 BTOW-Eact D Tovv-vvest Endcap
s [ : : ' ' I18
o
o N
7 25— —16
E -
T L
= C —14
P 0l
C —112
S S O W S o
N 8
10_— """"""""""""""""""""""""""""""" | —6
N 4
5 __ ......................................................
r 2
0_ 11 ) | 111 | 1 1 | [ | 111 O
0 2 4 6 8 10 12 14
x: iEta [-1,+2]
Entries 534

|d|Jet2 eta-phi (accepted_ EE)|

y: iPhi ~sector

30

N
(&2}

20

15

10

RTO\AI Fncf

DTOvVV-vVve

14

12

0 2 4

6 8 10 12 14

X: iEta [-1,+2]



|diJet Et (accepted EE) |

Entries

10

10

L L RS

—-|Mean 5.
1.13

534
382

.....................................................................

— H|gh Etjet
Low Et Jet

1

50 60
x: Et (GeV)

|diJet eta (accepted EE)| Entries 534

_ Mean 12.85
200_ .......................................................................

= RM&  1.173
2 L RS SRR TR

r ' ]
110 O A OSSN SRS RS SN 11: -----

140
120
100
80
60
40

20

- _H|gh Etjet
e o Low EtJet

......................

......................

0 2 4 6 8

12 14
x: i Eta[-1,+2]

|diJet phi (accepted EE)| Entries
C T : T |Mean
oF :[RMs 8.
s T
00 -
20— ,'4_|_r|— — High Et jet

15

10

0 5

534

14.13

784

Low Etjet

10 15 20 25 30
x: iPhi ~sector

|diJet delZeta (accepted EE)|

Entries

45

40

35

30

25

20

15

10

0 10

Mean

RMS

534

315
7.933

...................................................................................

...............................................................................

.A.. B

N
11
>
—~
(&N
[N
N

...............................................................................

20 30 40 50 60
x: delta zeta (rad*10)




534
12.85
315

|diJet delZeta vs. etal (accepted EE) | l\E/gfi
-~ Mean y
g 60 .....................................................................................
e]

g

] L RN

(0]

N

8

B Y TTET

5

30

20

10

0

14

12

10

0 2 4 6 8

10 12 14
x: iEtal [-1,+2]

|diJet eta2 vs. etal (accepted_EE)|

Entries

ean X

x: iEta2 [-1,+2]
T

1N
O

L e S

R e

Endca

eany

0
|

Olllilllilllillli

534
12.85
13.09

20

10

0 2 4 6 8

diJet delZeta vs. avrPhi (accepted_EE) |

Entries

y: delta zeta (rad*10)

Mean x

534

14.41
315

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

10 12 14

x: iEtal [-1,+2]

Entries

ltotal Et diJet (accepted EE) |

50
40
30

20

10

...........................................

............................

............................

534

18.61

:|Mean

......................................

......................................

......................................

|m 1 I 1 1 11 I 1 1 1 1

O 1 1 1 1
0 10

20

30

40 50
x: Et (GeV)

60



|Et of Jetl vs. Jet2 (accepted_EB)|

Entries 668

>
)

Jet2/G

12

10

- s s s s s Ilso
i : : : : : 160

140

—120

10 12
x: Jetl/GeV

|diJet1 eta-phi (accepted_EB)|

y: iPhi ~sector

30

oTovv=vwwest Endcap

20

15

10

BTOW-East

.........................

....................................

5_ ...........................................
O_I 11 | 111 | 1 1
0 2 4 6 8 10 12 14

x: iEta [-1,+2]

668

Entries

y: iPhi2 ~sector

30

N
¢

20

15

10

5
=
0 1 1 1 I 1 1 1 1
0 5 10 15 20 25 30

x: iPhil ~sector

|diJet2 eta-phi (accepted EB)]

Entries 668

y: iPhi ~sector

est| Endcap

D TUVVEVV

30

N
(&2}

20

15

10

BTOW-East

5 [
O B 1 1 1 i 11 1 i 1 l O
0 2 4 6 8 10 12 14

X: iEta [-1,+2]



|diJet Et (accepted_EB)| Entries 668 |diJet eta (accepted_EB)| Entries 668
T s N S S T Mean 7.455 C : —Mean 11.17
o {IRMS  1.341 180;_ ''''''''''''''''''''''''''''''''''''''''' i IRMS  1.668

AT:10 EERUUUOUON SUOUOPSOUO0 U000 SOOSPUUOOONHUNOSPOUSY PSUUOOSPS SOSSPSUUINS S
102 e () A C : : : : .
o et S e S Sl At S S
ZIIEI._. O SRt SRR (10| RSP SURSPONS SRS s T
- I ngh Etjet --------------------- LO0f—+-+-e-seieemmersedinninens — High Et jet  |[-f-meieens
: - Low Etjet sok : : --- Low Et je
104 Lo ; —
T RS R S é;-;-;-i_ -----
ZZZ;:IZI ___________________________________________________________________________ ) SRRSO SRRSO SRR SO ___________________________
R R R DO S C '

: 20__ """" FTTTTTTTTTT ot et =75 Tt ---
1_451 """""""""""""""""""""""""""""""" :JLJiJlLiLJL-'?-!I_iIIIiIIIilllil
0 10 20 30 40 50 60 0 2 4 6 8 10 12 14

x: Et (GeV) x: i Eta[-1,+2]
|d|Jet phi (accepted EB)| Entries 668 |di.Jet delZeta (accepted_EB)| Entries 668
F : ; ; : -|Mean  15.22 80— P SRS EEEEE 7 =={Mean  30.99
35 R R T S {RMS 8597 RMS 5533
C 5 5 5 5 TOF oot b .
301
r BOF— e e e e
25; T e S P
20%—- N ngh Et]et A0 oo
C --- Low Et Jet
15 e b : e T
C : - XS, )
i[1] SSIRORE T ESRS P NN RO AT 70| 1 L P S
C RED Jetl ET > GREEN Jet2 ET
5 e e e 0 S ATEERITER-SRRRERRE (] ¢ EETRPRP P P R (S
:I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 0 |—|-L|I-|I 1 1 1 I 1
0 5 10 15 20 25 30 0 50 60

x: iPhi ~sector

x: delta zeta (rad*10)




668

11.17
30.99

|diJet delZeta vs. etal (accepted_EB)| l\E/gfi

-~ - - Mean y

T SECET T
e] N N

g 5 5

B B0 b e _ ................
(0]

N

8

B AO et O

5

30

20

10

OIllillliIllilllilllilllilllil

*
:

6
4
2
0

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet eta2 vs. etal (accepted_EB)|

Entries

14— o R

I R e e

x: iEta2 [-1,+2]
T

15N
O

viean X

Endcap
eany

0
|

10.98

Olllilllilllilllilll

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

Entries

diJet delZeta vs. avrPhi (accepted_EB) |

Mean x

y: delta zeta (rad*10)

668
14.72
30.99

9

—8

1O 5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

668
11.17

Entries

ltotal Et diJet (accepted EB)|

:|Mean

668

21.2

60

.................................................................................

...................................................................................

50

40

30

20

10

I 1 1M1 I 1 1 1 1

O 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1
10 20 30

o

40 50
x: Et (GeV)

60



[Et of Jetl vs. Jet2 (accepted_BB)| [Enwies 2177]  |diJetl eta-phi (accepted_BB)
oTovv=vwest Endcap

> 12
q) -

.

0} 2

(]

S0 3
S
[

~ 10 b

[ £

o

6 .....
4
2
o
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted BB)| [Enties 2177] |diJet2 eta-phi (accepted_BB)
20 = Eo oTovv=vvest Endcap
< , 3 5 s
6 [S]
5 :
I 25 B SR !
o <
= o
o ; . : =
.. 1 . . >
> 20 huaiiiosetll  REEE I L

15 T R RS

Lo SRR SR -

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted BB) |

10°

-

o ngh Et jet
“|--- Low Et jet

10

—|Mean

= RMS

Entries 2177
9.121

2421

50

60

x: Et (GeV)

|diJet eta (accepted BB) |

250

200/—
150

.............

- - mwom oy

— H|gh Etjet |--

Entries 2177
7.344
3.629

Mean

RMS

B Low Etjet
100f—--|-+++-ieeeeeeee - F——————— I SEREAR
o SO SO OOt SO OO SO if:__.________ _____

_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 I-I-

2 4 6 8 10 12

14

x: i Eta[-1,+2]

140 SRS N R

120[ -

00 [T |

—|Mean

......

. [RMS

Entries 2177

15.13
8.873

...................

...................

80 g — ngh Etjet

--- Low Et jet

60

Li_I =

TS| R USROS RO USSR O
: RED Jetl ET > GREEN Jet2 ET
20— Rt IR Rt S

......................

......................

0 5 10 15 20

25

30
x: iPhi ~sector

|diJet delZeta (accepted BB)]

300

250

200

150

100

50

A"Z':[éa'hi'(;]l';:];z)'*" g

Entries 2177
30.6
4.603

Mean

s

-—i—._l— 11 | i 1

RMS

20 30 40 50

60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted BB) |

Entries

y: delta zeta (rad*10)

Mean x

Mean y

2177
7.344

30.6

5
0

0 2

4 6

8 10

12 14
x: iEtal [-1,+2]

Entries

|diJet eta2 vs. etal (accepted_BB)|
R L (\N

x: iEta2 [-1,+2]

0 2 4 6 8

viean X

Endcap
eany

10

12 14
x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_BB) |

Entries

y: delta zeta (rad*10)

Mean x

..........................................

Mean y

2177
14.9
30.6

.......................

...................

25

1O

5 10

15 20

25

x: (iphil+iphi2)/2 (12 deg/bin)

30

2177

7.344
6.332

200F
180F
160F
140F
120F

100

80

60F

40

20

oE

:{Mean

Entries 2177

24.02

..................................................................................

..................................................................................

I 1 1 1 | .

50 60
x: Et (GeV)




